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     What fraction of his total income last year came from his work at the gym?
     Write the fraction in its simplest form.                                                           (4)




      	                                          Plan a suitable route.
    Work out the total distance of the route.                                                       (5)



Route
Total Distance

 
























a) Has Megan changed the price correctly?                                             (3)


b) Use estimation to show a check of your answer.                            (1)







Work out the lowest cost of the tiles for George                                            (5)

    
£

a) Work out the deposit that Gabi will have to pay.                              (3)
£
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b)  Work out the value of the investment at the end of 3 years.                  (3)

£

a) Convert 60 litres to gallons.                                                                      (1)
                                                 gallons
b) Use the graph to work out how much more.
    Remember to give units with your answer.                                                 (2)






































Work out the area of woodland in the county that is not native woodland.      
                                                                                                                                     (3)      
                                                   Km2  
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1 Last year Zack had two jobs.
Zack worked
+inan office for 12 months and earned £2600 per month

+ ata gym for 39 weekends and eared £80 per weekend
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2 Olga has this sketch of the paths in a park.

2Ve miles

Entrance 1%Mies D

She wants a cycle route that
« starts and ends at the entrance

+ goes through point C at least once

+ hasa total length between 15kilometres and 20 kilometres.

Tkm =06 miles.
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3 Megan is the manager of a computer shop.
She organises a sale with 18% off all tablets.

Megan changes the price of one tablet from £389 to £330.98
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4 George will cover part of a floor with tiles.
The part of the floor is in the shape of a triangle as shown.

305cm

371.5cm

George buys tiles in packs.
Each pack covers 1m? and costs £39.95

The tiles can be cut and joined.
George gets ] off the cost of the packs of tles.
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5 Gabi wants to buy a flat.
The cost of the flat is £175 000

The bank uses this formula to work out the mortgage Gabi can get.

M=4.625A

M = mortgage (£)
A = annual income (£)

Gabi has an annual income of £34 000
She will have to pay a deposit for the flat.
The deposit is the difference between the cost of the flat and the mortgage.
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Gabi invests £4000 for 3 years.
The investment earns 2% compound interest per annum.
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gallons.

in be used to convert between gallons and litres.
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Oneday

+ Anaya used 44 litres of fuel
+ Meera used 8 gallons of fuel.

Anaya used more fuel than Meera.
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7 David reads this advert on his county council website.

70% of the area of woodland in the county is native woodland.

This means there are 350 km? of native woodland in the county.
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Zack worked
+inan office for 12 months and earned £2600 per month

+ ata gym for 39 weekends and eared £80 per weekend




